Multiple Choice Questions
Question. 1 Both u and v vary directly with each other. When u is 10, v is 15, which of the
following is not a possible pair of corresponding values of u and v?
(a)2and 3 (b) 8 and 12 (c) 15 and 20 (d) 25 and 37.5
Solution.
(e} Since, vand v vary directhy, e v = k [constant)
F u=10andv =15 then, 2= 102
L . |
a8 _z

InD-FIﬁEﬂ'I [h:lr E=E

So. cption {c) & not a poeeible pair of cormasponding values of u and o
Hence. option (c) i3 corect.

Question. 2 Both x and y vary inversely with each other. When x is 10, y is 6, which of the
following is not a possible pair of corresponding values of x and y?
(@) 12and 5 (b) 15and 4 (c) 25 and 2.4 (d) 45 and 1.3

Solution.
(d) Since, xand yvary inversaly, Le. x x v =k (constant)
it z=10ard y=86

x¢ =10 % 6= 60
In aption {a), 12 x 5= B0

In option (b}, 15 % 4 = &0

In option (C), 25 = 2.4 = B

But in aption {d), 45 = 13 = 583
Hence, oplion (d) is comect,



Question. 3 Assuming land to be uniformly fertile, the area of land and the yield on it vary

(a) directly with each other

(b) inversely with each other

(c) neither directly nor inversely with each other

(d) sometimes directly and sometimes inversely with each other

Solution. (a) If land to be uniformly fertile, then the area of land and the yield on it vary directly
with each other.

Hence, option (a) is correct.

Note Two quantities x and y are said to be in direct proportion, if they increase or decrease
together in such a manner that the ratio of their corresponding values remains constant.

Question. 4 The number of teeth and the age of a person vary

(a) directly with each other

(b) inversely with each other

(c) neither directly nor inversely with each other

(d) sometimes directly,and sometimes inversely with each other

Solution. (d) The number of teeth and the age of a person vary sometimes directly and
sometimes inversely with each other, we cannot predict about the number of teeth with
exactly the age of a person. It change with person-to-person.

Hence, option (d) is correct.

Question. 5 A truck needs 54 litres of diesel for covering a distance of 297 km. The diesel
required by the truck to cover a distance of 550 km is (a) 100 litres (b) 50 litres (c) 25.16
litres (d) 25 litres

Solution.

fa)  Atruck need 54 L of diesel figr covering a cistance = 207 km

o In 1L, the fruck can cover the distance = % = E5km

Thus, for 550 km, the required diesel of fruck = % =100L

Hanca, aption (3) is conmact.

Question. 6 By travelling at a speed of 48 km/h, a car can finish a certain journey in 10
hours. To cover the same distance in 8 hours, the speed of the car should be

(a) 60 km/h (b) 80 km/h (c) 30 km/h (d) 40 km/h

Solution.



(a)

Spead al 1he caf = 48 k'

and fime takan by car = 10h
5 Destance = Spead = Time = 48 = 10 = 480 km
I car mead bo cover 4B0 km in 8 h, then

Mlmdnmﬂd:%:mm

Hence oplion (@) s comect,

Question. 7 In which of the following cases, do the quantities vary directly with each other?

{a)

(b)

(c)

(d)

¥ 05 3 ] 3z
2 8 32 128

p 1,;I 2.1‘ 31 41
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Solution. (a) In option (a),
x=0.52,832andy=2,8,32,128
If we multiply x with 4, we get the directly required result as same as shown in corresponding

y. In this case, as the value of x increases, the value of y also increases. Hence, option (a) is

correct.

Question. 8 Which quantities in the previous question vary inversely with each other?
(@) xandy(b)pandqg(c)rands(d)uandv

Solution.

fd)  Inoption &),
p T b &
R i T .

It we muliply pand g with 1, 2, 3 and 4, we gal the given resu. Bu il s not given

iR S ER.

In option jc),
r I 5 1a 29 E':IH-
g X W S 2 08

H we muRipty rwith 2.8 and 5 wilth 2.5, we will get the ghven regui.
in opéion {d),

g 2 4 L ¥ 1l

v 1B 9 & 4 3

=2, than v = 18

fy =4 Menv =8,

Ify =6 thenv =G, v

Ifu =0 thanv =4 al
anddu =12 thanv =23 ;
It shicrw, whan u increases, 1hen v decrescas.
Harcn, il & ireersely wilh each ofhar

Question. 9 Which of the following vary inversely with each other?
(a) Speed and distance covered (b) Distance covered and taxi fare



(c) Distance travelled and time taken (d) Speed and time taken

Solution. (d) We know that, when we increases the speed, then the time taken by vehicle
decreases.

Hence, speed and time taken vary inversely with each other.

So, option (d) is correct.

Question. 10 Both x and y are in direct proportion, then % and % are
(a) in indirect proportion

(b) in inverse proportion

(c) neither in direct nor in inverse proportion

(d) sometimes in direct and sometimes in inverse proportion

Solution. (b) If both x arid y are in directly proportion, then %and i are in inverse proportion.
Hence, option (b) is correct.

Note Two quantities x and y are said to be in inverse proportion, if an increase in x cause a
proportional decrease in y and vice-versa.

Question. 11 Meenakshee cycles to her school at an average speed of 12 km/h and takes
20 minutes to reach her school. If she wants to reach her school in 12 minutes, her average
speed should be (a) 20/3 km/h (b) 16 km/h (c) 20 km/h. (d) 15 km/h

Solution.

(e} Givan, speed ol sycle = 12 krdh

Time takan by Meenakshea Frough cycle = 20 min

Then, total distance covar = E?: akm |- distance = fme x speed]

i Mesnaikshes want 1o reach har schodl in 12 min, than her cycle spesd should ba

'1; Lg. 20krmvh I*.-upaaj:m]
EaTHE
Lih]

Handa, oplion () s comacd,

Question. 12 100 persons had food provision for 24 days. If 20 persons left the place, the
provision will last for
(a) 30 days (b) 96/5 days (c) 120 days (d) 40 days
Solution.
fa) - 100 parsons had food provision for 24 days.

&1 person had food provision for 24 10048 2400 days,

IF 20 persons left the place, then remaining persans =(100— 20) = 80
v B0 persons had fond provision Tor Exﬂ i.g. A0days.

Hence, opdion (a) is cormect.

Question. 13 If two quantities x and y vary directly with each other, then

(a) ¥ remains constant (b) x — y remains constant

(c) x + y remains constant ‘ (d)ix y remains constant

Solution. (a) If two quantities x and y vary directly with each other, then ¥ = k = constant.
Since, in direct proportion, both x and y increases or decreases together such a manner that
the ratio of their corresponding value remains constant. Hence, option (a) is correct.

Question. 14 If two quantities p and q vary inversely with each other, then

(a) gremains constant (b) p + g remains constant (c) p x q remains constant (d) p — q
remains constant

Solution. (c) If two quantities p and g vary inversely with each other, then p x g remains



constant.

Since, in inverse proportion, an increase in p cause a proportional decrease in g and vice-
versa.

Hence, option (c) is correct.

Question. 15 If the distance travelled by a rickshaw in one hour is 10 km, then the distance
travelled by the same rickshaw with the same speed in one minute is
(a)’5'm (b)’3'm (c)1000m (d)’3°'m
Solution.
fd) The destance traveded by & ¥Hokehaw in 1h=10km
In 1 min, ricksnaws covared the distance

=10y o 10 1000 [-1h = 80 min and Tkm = 1600m)
&0 B
- 1000 _ 30
] 3

Hernca, optian id) is comec.

Question. 16 Both x and y vary directly with each other and when x is 10, y is 14,
which of the following is not a possible pair of corresponding values of x and y?

(a) 25 and 35 (b) 35 and 25

(c) 35and 49 (d) 15 and 21

Solution.

(&) Bothx and yvary directly with each other.
i.B. Xoel
if r=10andy=14
S0, 10 140 fee 7

Thig propartion is not folkn in option (D) palrs,
Henoe, option (b} & comect,

Fill in the Blanks
In questions 17 to 42, fill in the blanks to make the statements true.
Question. 17 If x = 5y, then x and y vary——— with each other.

Solution.
Giver, ¥ = 5y
Them, %=$~H = constant
s BNy vary directly with each other.
Question. 18 If xy = 10, then x and y vary————with each other.
Solution.
Given. =10
zm 10

¥
Hence, x and yvary imversiy with each cther.
Note Since, in case, of py, 4 ore the volves of p comespanding to the values x, x, of x,
respectively, then
M=y o

el B
oW

Question. 19 When two quantities x and y are in——-proportion or vary——-they are written as
€Ty

Solution.When two quantities x and y are in direct proportion or vary directly, they are written
as * x ¥ [see definition of direct proportion]



Question. 20 When two quantities x and y are in——-proportion or vary———-they are written

.I’.'DCI—

as ¥
Solution. When two quantities x and y are in inverse proportion or vary inversely, they are

1
written as © ™ ¥ [see definition of inverse proportion]

Question. 21 Both x and y are said to vary———with each other, if for some positive number k,
xy =k.

Solution. Both x and y are said to vary inversely with each other, if for some positive number
k,xy = k. [see condition of inverse proportion]

Question. 22 x and y are said to vary directly with each other, if for, some positive number k,
———=k.
Solution. x and y are said to vary directly wifh'ether, if for some positive number k, v=k

Question. 23 Two quantities are said to vary——— with each other, if they increase
(decrease) together in such a manner that the ratio of their corresponding values remains
constant.

Solution. Two quantities are said to vary directly with each other, if they increase (decrease)
together in such a manner that the ratio of their corresponding values remains constant.

Question. 24 Two quantities are said to vary——-with each other, if an increase in one
causes a decrease in the other in such a manner that the product of their corresponding
values remains constant.

Solution. Two quantities are said to vary inversely with each other, if increase in one cause a
decrease in the other in such a manner that the product of their corresponding values remains
constant.

Question. 25 If 12 pumps can empty a reservoir in 20 hours, then time required by 45 such
pumps to empty the same reservoir in—hours.
Solution.

v+ 12 pumps can emply & regamair in 20 7

o1 pump can emply in 20 =12 e 240h.

Treen, 45 ournoe can empty the aams resanoir in

. @h = 2_4'[!! L bally
A5 4E

_1&4‘:'3
45

=5= 60+ 2]

= &h 20 min

[+t he 80 min]

= J20min

Question. 26 If x varies inversely as y then

x - &0
¥ 2 1

Solution.



it x varies inversely sy, hen

=k {constant) B[
It xoBland y=10
S oy = G010 = GO0
= k= GO0
Whan y =2, then fram Eqg, i},

Exd =k

P 2z = B0 [iutting the valua of k]
= =300

Question. 27 If x varies directly as y, then

X 12 &
y i -
Solution.
i x veres direcily as y, thisn
T = k{conatant) -
¥
M ox =12 and y= 48 fhan
r 12 1
— e e T
¥y 48 4
= B .]
4
When £ = 8 than froen Ego (1),
g .
— = N
¥
& 1
= _l'-:* |putiing the vaiue of k]
e Eiwdomypui [ow croes- mulkpicaton]
-# ¥o=24

Question. 28 When the speed remains constant, the distance travelled is——-—proportional to
the time.

Solution. When the speed remains constant, the distance travelled is directly proportional to
the time.

e.g. If 70 km cover in 10 min with uniform speed, then 20 km cover in 20 min with same
speed.

Question. 29 On increasing a, b increases in such a manner that 7 remains——and positive,
then a and b are said to vary directly with each other.

Solution. On increasing a, b increases in such a manner that # remains constant and positive,
then a and b are said to vary directly with each other.

Question. 30 If on increasing a, b decreases in such a manner that—— remains—-and
positive, then a and b are said to vary inversely with each other.

Solution. If on increasing a, b decreases in such a manner that ab remains constant and
positive, then a and b are said to vary inversely with each other. [see definition of inverse
proportion]

Question. 31 If two quantities x and y vary directly with each other, then——— of their
corresponding values remains constant.

Solution. If two quantities x and y vary directly with each other, then ratio of their
corresponding values remains constant. [see definition of direct proportion]



Question. 32 If two quantities p and q vary inversely with each other, then———- of their
corresponding values remains constant.

Solution. If two quantities p and q vary inversely with each other, then product of their
corresponding values remains constant.

Question. 33 The perimeter of a circle and its diameter vary——with each other.
Solution.
The parmetar of & circle and is diameter vary directly with Bach alher,
Permaler of a Gircle = 2
Digrmater of a ciccla =2 = r
= Pareneber=mx Digmeter [+ & = coratand]

Question. 34 A car is travelling 48 km in one hour. The distance travelled by the carin 12
minutes is ——.

Solution.
Aocertraveling in Th=4Bkm
E-::u,mrtrm-eﬂa:!lﬂmin-%km [ 1= GDmin]
Similarly, car travellad in 12 min = % w12 = 4:=- 5.6 km

Question. 35 An auto rickshaw takes 3 hours to cover a distance of 36 km. If its speed is
increased by 4 km/h, the time taken by it to cover the same distance is——-.
Solution.

Ay auto nekeshaw Ekes 3 b cover o distance of 36 km,

) x5 distance
Then, its spesd = =2 =13 km/h -speed = 22
il 3 [ P e
It its speed imcreases 4 lkmy'h, than
New speed =12 + 4 = 16km/h
hhw,tmatshanbfauh:mkahmrmmrﬁﬁkmin%hra—ﬂ%ﬁ-135r'|1ir1
[-1h= &0 mir]

& =2 « B0+ 15=2 h 15 min

Question. 36 If the thickness of a pile of 12 cardboard sheets is 45 mm, then the thickness
of a pile of 240 sheets is——cm.
Solution.

The thicknesze of a pile of 12 cardbeard shaats = 45 mm

- This thickness of @ pie of 1 cardooard sheet = Emm

S, the thickness of a pile of 240 cardboand #‘ﬂﬂlﬁ-%xzﬂﬂmmhdﬁxﬂu—ﬁmm
LF W n |
=2 pom=80cm |+« mm=—cm
m [ 10

Question. 37 If x varies inversely as y and x = 4 when y = 6, when x = 3, then value of y is—.
Solution.

X varies inversely as y.

Iry inverse proporon, xy = & [constant)
fx=dand y=6,thenk=4= 6=24

Mow when £ =3 |, than j"=£

x
24

=3 == of
¥ b |

Al az

Question. 38 In direct proportion iy ————- By



Solution.

Im direct proportion,
o BT
B by

wherg, Bk k lconstand)
]

Question. 39 In case of inverse proportion,

% _b
Solution.
in inwerse propodion,
8 _by
& b
= sb =8 b,

Question. 40 If the area occupied by 15 postal stamps is 60 cn?, then the area occupied by
120 such postal stamps will be——.
Solution.

~The ares occuped by 15 postal stamps = &0 o

= The ares ocoupsed by 1 postal stamp =?;§= 4 om?

Sirnilarty, the area cccupied by 120 such postal stamps = 4x 120 = 480 cm”®

Question. 41 If 45 persons can complete a work in 20 days, then the time taken by 75
persons will be——hours.

Solution.

“r &5 persons can complets 8 work in 20 days.

S 1 peeson can complels a work in 45 =20 Le. 800 days

Simdarty, 75 persons can complets the same work in E%D =12 days

=12x24=288h [-1day=24h)

Question. 42 Devangi travels 50 m distance in 75 steps, then the distance travelled in 375
steps is—— km.
Solution.

= Pevangi covers the distancs in 75 ateps = 50m
B0, she cover the destance in 1 slep = ?—ﬂzm

In 375 steps, she will cover

= =2 km F1 ken = 1000m]

True/False

In questions from 43 to 59, state whether the statements are True or False.

Question. 43 Two quantities x and y are said to vary directly with each other, if for some
rational number k, xy =k.



Solution. False
Two quantities x and y are said to vary directly with each other, if v = k (constant)

Question. 44 When the speed is kept fixed, time and distance vary inversely with each other.
Solution. False
When the speed is kept fixed, time and distance vary directly with each other.

Question. 45 When the distance is kept fixed, speed and time vary directly with each other.
Solution. False

When the distance is kept fixed, speed and time vary indirectly/inversely with each other.
Since, if we increase speed, then taken time will less and vice-versa.

Question. 46 Length of a side of a square and its area vary directly with each other.
Solution. False

Length of a side of a square and its area does not vary directly with each other, e.g. Let a be
length of each side of a square.
So, area of the square = Side® = a2

So, if we increase the length of the side of a square, then their area increases but not directly.

Question. 47 Length of a side of an equilateral triangle and its perimeter vary inversely with
each other.

Solution. False

Length of a side of an equilateral triangle and its perimeter vary directly with each other, e.g.
Let a be the side of an equilateral triangle. So, perimeter = 3 x (Side) =3 xa =3a. So, if we
increase the length of side of the equilateral triangle, then their perimeter will also increases.

Question. 48 If d varies directly as +*, then we can write d¢* = k, where k is some constant.
Solution. False

If d varies inversely as #?, then we can write dt? = k, where k is some constant.

Since, two quantities x and y are said to be in Inverse proportion, if an increases in x cause a
proportional decreases in y and vice-versa, in such a manner that the product of their
corresponding values remains constant.

Question. 49 If a tree 24 m high casts a shadow of 15 m, then the height of a pole that casts
a shadow of 6 m under similar conditions is 9.6 m.
Solution.

True

' Halght of & trea = 24m

Than, itz shagow =15m

Witn the sendar condilion; il & pola kas a shadow of length = &m

Let tha height of pole = zm
Sinze, length and shadow vary directiy,
Then E aX
15 &

Thme=24ni [ty cross-rrulliplication]

= I =E.EE
5

= x=0.8m [ miight and shadow ratio &e s&me)

Question. 50 If x and y are in direct proportion, then (x -1) and (y -1) are also in direct
proportion.
Solution.



Falge
If x and v are in direct proportion, then,

£ = k {conatart)
r
eg Let x=4and y= @
. E:E:g

y 8 3
Mow x =1 d=T=dandy—1=86-1=5

T % :

4 2NTF [ned In cact propeetion]

Question. 51 If x and y are in inverse proportion, then (x +1) and (y +1) are also in inverse
proportion.

Solution. False

If x and y are in inverse proportion, then xy = k (constant) e.g. Letx=2andy = 3
~xy=2x3=6.Now,x+1=2+1=3andy+1=3+1=4

Then, (x + 1)(y+1) =3 x 4 = 12 [not in inverse proportion]

Hence, (x+ T)and (y + 1) cannot be in inverse proportion.

Question. 52 If p and q are in inverse proportion, i.e. pq = k (constant), then (p + 2)and (q —
2) are also in inverse proportion.

Solution. False

If pand g are in inverse proportion, then

xy = k (constant)

e.g.Letp=3andg=4

Then, pg=3x4=12

Now, p+2=3+2=5andg2=42=2

(P+2)(g-2)=5x2=10[not in inverse proportion]

Henc, (p+2) and (g -2)cannot be in inverse proportion.

Question. 53 If one angle of a, triangle is kept fixed, then the measure of the remaining two
angles vary inversely with each other.
Solution.

Falae

If ona angle of afrangle i keps fikkd. then the measure of the rarmamng o agles cant
vary ifversely with each other

8.0, In ARBC, £4 + £B8+ 20 = 180" [ sum ol all angles of a triangle is 180"]
If £4 = 507, then £8 + £C =180° - 50° = 130°

S, it is not depand an any proportion by appling angle sum propemies af a trangle.

Question. 54 When two quantities are related in such a manner that, if one increases, the
other also increases, then they always vary directly.

Solution. True

When two quantities are related in such a manner that if, one increases the other also
increases, then they always vary directly.

Above statement is correct for direct proportion. It is a basic properties of direct proportion.

Question. 55 When two quantities are related in such a manner that if one increases and the
other decreases, then they always vary inversely.

Solution. True

When, two quantities are related in such a manner that if one increases and the other
decreases, then they always vary inversely. Above statement is correct for inverse proportion.
It is a basic properties of inverse proportion.



Question. 56 If x varies inversely as y and when x = 6, y = 8, then for x = 8, the value of y is
10.

Solution.
False
If x varies imersely as ¥, .2, o= R (constant)
Ié xw=Gand y=8
xy =6 x B 48
But H x=8and y=10
w=8x10=20
Hearg, 48« BO

Hence, the valus of yis not 10,

Question. 57 The number of workers and the time to complete a job is a case of direct
proportion.

Solution. False

The number of workers and the time to complete a job is a case of indirect proportion, e.g. If
60 workers can complete a work in 10 days.

Then, 120 workers can complete the same work in 5 days.

Question. 58 For fixed time period and rate of interest, the simple interest is directly
proportional to the principal.
Solution.

True

For fixed time paricd (T} and rate of intarest (7}, tha simple interest = disctly proporonal
o i prineipal,

Welnowthat  &]= P_"f"?_”

31 R=T
] = i = COnEtant (a5 /& angd T ame constants
F 100 ! ]

& Simple interest is direcily propoional ta the principal.

Question. 59 The area of cultivated land and the crop harvested is a case of direct
proportion.

Solution. True

The area of cultivated land and the crop harvested is a case of direct proportion.
Since, the quantities of crop harvested is depend upon area of cultivated land.

In questions 60 to 62, which of the following vary directly and which vary inversely with each
other and which are neither of the two ?

Question. 60 (i)The time taken by a train to cover a fixed distance and the speed of the train.
(i) The distance travelled by CNG bus and the amount of CNG used.

(iii) The number of people working and the time to complete a given work.

(iv) Income tax and the income.

(v) Distance travelled by an auto-rickshaw and time taken.

Solution. (i) The time taken by a train to cover a fixed distance and the speed of the train are
inversely proportional.

e.g. Let a train cover 100 km in 1 h with speed 100 km/h.

Then, the same train cover 100 km in 30 min with speed 200 km/h.

(i) The distance travelled by CNG bus and the amount of CNG used are directly proportional.
e.g. Let a CNG bus can travelled 10 kmin 1 kg of CNG.

Then, the same CNG bus travelled 20 kmin 2 x T = 2 kg of CNG.

(iii) The number of people working and the time to complete a given work are inversely
proportional to each other.

e.g. Let 20 workers can complete a work in Tday.

Then, 10 workers can complete the same work in 2 days.



(iv) Income tax and the income are directly proportional to each other, e.g. Let Mr X have 4.5
lakh annual income.

Then, he pay 10% income tax on his income.

But if Mr X have 5.5 lakh annual income, then he has to pay 30% income tax on his
salary/income.

(v) Distance travelled by an auto rickshaw and time taken are directly proportional to each
other.

e.g. Let an auto rickshaw takes 2 h to travel 10 km.

Then, it will take 4 h to travel 20 km.

Question. 61 (i) Number of students in a hostel and consumption of food.
(ii) Area of the walls of a room and the cost of white washing the walls.
(iif) The number of people working and the quantity of work.

(iv) Simple interest on a given sum and the rate of interest.

(v) Compound interest on a given sum and the sum invested.

Solution.

i) Mumioer of students in a hostei and consumption of faod are directly preporional to
ezch othar
g.g. Lat 200 students m a hoslel can consume 100 kg of nce i & rreatith
Then, 400 students in & hoslal can conecme 200 kq of ice in a month

flit Aram of the walis of a roam and the cost of white washing the walls ar2 diracty
proportana 1o esch olher
g.0. Let T 1000 required far whifa wagshing a roam with [12 = 81rm sice
Then, T 2000 required for white washing a room with {12 = 16 m se.

(it The number of pecple warking gnd thie guantay of work are difecty proporional 1
each ciher
g Lt 20 workars can complate 20% of & work. Than, 40 workers can complale 40%
ol the same work,

{iv) Simple interest on a given sum and (he iste of nterest are direcly propardional o
gach ather.
e Let P=T1000 R =10% and T = 1yr
Sl=F‘:l»'.|'h{T: IEH:H:I_J-E.'_IEI:-H:‘ s
100 100
But® P=1000 8=20% and ¥ =1yr

51 R L
100 Jo

v} Gun‘p:nund imeeresion a gh.'er: sum and ke sum invested are nesthar IIEF'Eﬂd directly
it Irveraehy.

Question. 62 (i) The quantity of rice and its cost.

(i) The height of a tree and the number of years.

(iii) Increase in cost and number of shirts that can be purchased, if the budget remains the
same.

(iv) Area of land and its cost.

(v) Sales tax and the amount of the bill.

Solution. (i) The quantity of rice and its cost are directly proportional to each other, e.g. Let 1
kg of rice price = Rs 40

Then, 2 kg of rice price = Rs 2 x 40 = Rs 80

(i) The height of a tree and the number of years are neither directly nor inversely proportional
to each other.

(iii) Increase in cost and number of shirts that can be purchased, if the budget remains the
same are inversely proportional to each other, e.g. Let 2 shirts price = Rs 800 After increasing
in price of each shirt,

1 shirt price became Rs 800

where budget = Rs 800



il Area ol lan el #s cosl @2 directy proporional to sach olhe:
a.q, Let 2 land cost =7 5000

Thier 400 m* land cast =T 10000
{v) Sales tax and the amount of the bill ar2 directly proportional to each ot
2.9 Led Sill amoung = F 1000
Sales fax = 0%

Traon, sales tax = :I-IE:‘EIM!IF:ﬁ# 10}

S il il arraung = 2000
Sales 1@ = 10%:

Than, sales tax = % s 2000 = 10 20 = € 200

Question. 63 If x varies inversely as y and x = 20 when y = 600, find y when x = 400.
Solution.

If = varies iwarsehy 5y,

s Iy = i {constant)

iy
It x=20and ¥ = 6}
! = 0w G0 = 12000
= R 12000
Whan == 400 then o Eq. (),
Frdll=k
- ¥ 400 = 12000 [putting the valus of #)
2 pu 1200 o

Question. 64 The variable x varies directly as y and x — 80 when y is 160. What is y when x is
64?

Solution.
If = varies direcily & ¥,
&/ y = k [congiant) Al
If £ = BDand y =180
= £ = E = I =% K= j
¥ 160 2 2
Whian x = B4, then trom Eq. (7],
L8 % [prutting the value of k]
¥ L
e y=B4=2 =128

Question. 65 | varies directly as mand | = 5, when m =%. Find | when m =% .
Solution.

It Ivariaz ﬂ'll'ﬂ'm]j' &5 M
[ m = & = [eonstan)
2
= d =,
If {=5andm 2



a -‘::-.:'F!‘_
m 2/3 ]
=5.:'§=1_5
1 2 2
= R:EE
2
18
'I'-I'I"anrn=?trﬂ'=-rrmEq.n:ﬂ|
t b [putting the value of X
18,3 2 rigy the value of k]
15_18
= |!=_:|;_:|..4|J
277

Question. 66 If x varies inversely as y and y =60 when x = 1.5. Find x, when y = 4.5.

Solution.
If £ varies nwarsely as .
xy = k {constant) verll}
IF x=15and p= 63
=15x60= 50
= k=40
When y = 45 then kom Eq. {1},
A f - g
=3 45x y=90 [pusting the valse of k]
= r-%nm

Question. 67 In a camp, there is enough flour for 300 persons for 42 days. How long will the,
flour last, if 20 more persons join the camp?
Solution.

+*For 300 persans flour is encugh for 42 days.

= For 1 person flour enough = 300 » 42 = 12600days
Mow, 20 more persans |oin the camg.

=0, iotal parsons = 300+ 20 = 320

: 12600 3
~For 320 persons four enough = —— = = gda
R B8 ¥E

Question. 68 A contractor undertook a contract to complete a part of a stadium in 9 months
with a team of 560 persons. Later on, it was required to complete the job in 5 months. How
many extra persons should he employ to complete the work?

Solution.

v In'8 months, & part of sladium can complete by 560 persons.
~In 1 month. ihe work can be complete by § x 560 = 5040 persans
v In & manthg, the work can be comgplate by ﬂ:ﬂ = 1008 pargons

Mow, nurmbser of exdre persons required ta complets the work in § months
= 1008 — 560 =444

Question. 69 Sobi types 108 words in 6 minutes. How many words would she type in half an
hour?

Solution.

Saobi can types 108 words in B min.

In1m,ﬁcanrypa=%=1ﬂwurﬂa

Thus, irt 30 min, she can tyoe = 18 = 30 = 540 woeds



Question. 70 A car covers a distance in 40 minutes with an average speed of 60 km/h. What
should be the average speed to cover the same distance in 25 minutes?
Solution.

50 1000

B car covers a distance in 40 min with an sverage soeed =60 kmvh = N

In 1 i, the same distance can be cover with speed = 2025 1000 % 80 _ o0 mimin

5
‘“:;”:':"a-manmn

In 25 rreen, the seme distance can be covar with speed =

= 1600 60— 8 x 8= 9EKkMA [-.'1Mn;kmand1mln=lh]
1000 1000 B0

Question. 71 It is.given that | varies directly as m.
(a) Write an equation which relates | and m.
(b) Find the constant of proportion (k), when | is 6, then m is 18.
(c) Find |, when m is 33.
(d) Find m, when | is 8.
Solution.
Since, [varies direcily 53 m
{a) Equation ralated to { and mid‘r—‘:] = k {conatant)

&) Il 1= Gand mnﬂ.mn%;% |

o

=R = 33, then

=4 frs Bx Jmdd

Question. 72 If a deposit of Rs 2000 earns an interest of Rs 500 in 3 years, how much
interest would a deposit of Rs 36000 earn in 3 years with the same rate of simple interest?
Solution.

If depasit of T 2000 esms In 3 yrwith an intarest =7 500

Then, & deposit of T1000 &arns in 3yt with an interest = % = ¥260

Similarky, depoes of T 3500 1.6, 738 x 1000 earns In 3y with &n imtarast = 250 x 36 =% 9000

Question. 73 The mass of an aluminium rod varies directly with its length. If a 16 cm long
rod has a mass of 192 g, find the length of the rod whose mass is 105 g.
Solution.

According to the question, the maea [m of an aluminum rod vares directly wilh its length
. Here, we use the dract propadian.

In direct proportion, ? =k (conesant)

; m_18 e
i 18

= k=12

If massof the rod =105 g

Then, ?-H

= 198 _ 12



Question. 74 Find the values of x and y, if a and b are in inverse proportion.
(@) 12x 8 (b) 305y
Solution.

Iry &1 invarss proportion,

When we muibiahy I Fest quantity By arny constant /, them the ancthar guandity is divided
by the same consiant .

Latven,

a i2 x |

b g 5 ¥
Hera, wia g8 thal in part, (B) when we divide 30 by 8, we will gat 5.
30 In part {a), we will get the value of x,
i .1:=12:::ﬁ=??
Slmilardy, inpart Ja), when we devide xie, 72 by 8, we will get &,
Sain part (B), we will st the value ot y,
1., p=Sxf=45

Question. 75 If Naresh walks 250 steps to cover a distance of 200 metres, find the distance
travelled in 350 steps.

Solution.

 Maresh walks 250 gtans to cover distancs =200m

~In 1 slep, he cavars the distanca = % m

+|m 350 stens, hamwsquasﬂ-w
260 25

AL,
25

=260m

Question. 76 A car travels a distance of 225 km in 25 litres of petrol. How many litres of
petrol will be required to cover a distance of 540 kilometres by this car?
Solution.

A ear travals 225 km distance 0 25 L of perod,

25
For 1 km, | racquired = =
petral rag

- For 540k, the petro! reguired = %x BaAl=G0L

Question. 77 From the following table, determine if x and y are in direct proportion or not.

@ % 3 & 1 2
¥ | . a4 A5 Bl 120

B~ s+ 7 w T
y M 4 & 9%

(- M 1 F g 20
y 15 6 135 30

Solution.



In direct prepartion, = = k {constant)
¥

For fabile [a),
x 3 .8 15 X 30
¥ 2 2 45 L 120
- £_3 BI85 80 80
¥y 1224 45 607120
» za L
ik 14374
5o, 1al iz not in direct preperion. 1
For tabde (B), - | I
x 4 7 10 16
y o a2 s 9%
5y . SRS el
y 24 42 80 96
: : B By
i|. e i T
EEEE -
30, (B I In diregt proportion,
Far takle {2, -
x | 4 5 i
¥ 5 B 138 30
5 x_14 9
¥ 15 & 1356 30
L8 3. ¥ i
15 15 15 15

Question. 78 If a and b vary inversely to each other, then find the values of p, q,1; x,y, zand |,
m, n.

(a) 4 & B g 25
b 18 1] 39 r

. y 6 10
b x 125 15 1
(€} 2 ] z 5

Solution.



It & and o are vary imvaresty to eech other,

3 Ay = f {canskan)
Fortebleqa),
a t i a 25
b 18 o 34 r
Ifa=Eandb=13
Thee, axb=gxi8=108
= k=108
When @ =3and b =g, then
gh=§
= x p=égﬂ [purting The value of &)
= e
i z "
When g=q and b = 38 then
ab =K
g x39=108 [putting the value of k]
” o< 108_ 36
- R
Whana =25 and &=, then
ab =k
= 25xr =108 [outting the value of &
= r=E
25
For tabis (b},
a F) ¥ G 10
b n 125 15 i
If a=Eand b=15 then
‘ axb=E6x15=00
= K o= B0
When =2 and &= x. then
ab =k
=5 Sxx =580 [patiing tha vallue of K]
= awmdf
Whan &=y and b=125 ihen
ab =k
= yri25=060 [ puiting the walus of xj
=5 r-ﬂ-'-".‘-.‘
12.5
Whan a=10and y = z then
ab=Fk
=¥ V0= 7= B |puditing e wvalue of x]
5 F=0
For tabie (o,
a I - & n £
B 5 m 25 10




IHa =G and b =10, hen

ab = 6= 10==E60
= N =Bl
Whean a = land b =5 than
afy = F
=¥ ixG=g0 [Euatiing e walue of k)
= =12
When a = 8§ and b =m, than
ab=k
=4 Qxrmm Gl [Eriting S vaduie of k]
=3 =0

When g =0 and b =25 then

b=k
=¥ nx2h =G0 [mutting tha value of k)
= n=50
25
= n=12
L]

Question. 79 If 25 metres of cloth costs Rs 337.50, then
(a) what will be the cost of 40 metres of the same type of cloth? (b) what will be the length
of the cloth bought for Rs 810?

Solution.

Accaordng to the question,

w25 m of clobh cosd = ¥ 33780

1 maf cloth cost = 720, 20

25

(s} Cost of 40 m of the same type of chth:%ﬂ xdﬂ:%:!‘&dﬂ
B35 20250

i) Thea length of cloth bowght for ¥ 810 & — =52 = 5555 = Glom
JETED 3ATED

Question. 80 A swimming pool.can be filled in 4 hours by 8 pumps of the same type. How
many such pumps are required, if the pool is to be filled in 2% hours?
Solution.

A swimnmming poc can be s in 4 hours by & pumps.

I we Wil Lo fill the evdmming pood in 1 hy we required 4= B = 32 purmps

InE% i.a.gh. the number of pumps required « 32 +§= E’-Bia.e 4% 3= 12 pumps

Question. 81 The cost of 27 kg of iron is ? 1080, what will be the cost of 120 kg of iron of the
same quality?
Solution.

= The cost af 27 kg of iron =¥ 1080

~Costaf 1 kg of iron =199 _ 24p

27
Solhecost ol 120 kg =400 "20 = ¥ 4800
Hence, the cost of 120 kg of iron |s T 4800,

Question. 82 At a particular time, the length of the shadow of Qutub Minar whose height is
72 m is 80 m. What will be the height of an electric pole, the length of whose shadow at the

same time is 1000 cm?



Solution.
«+Langth of Qutub Minar = 72
and s ehadow st paricular tme = 80m

Length of snedow of electric pole = 1000cm =10m [1 G = % |-.=J

~.Length of electric pole =% c10=0m

Question. 83 In a hostel of 50 girls, there are food provisions for 40 days. If 30 more girls
join the hostel, how long will these provisions last?
Solution.

I & hostel of 50 girls, food ars aveilabie =40 days

For 1 girl, food provisions = 50 x40 m 2000 days

Question. 84 Campus and Welfare Committee of school is planning to develop a blue shade
for painting the entire school building. For this purpose, various shades are tried by mixing
containers of blue paint and white paint. In each of the following mixtures, decide which is a
lighter shade of blue and also find the lightest blue shade among all of them.

bdinctLine A Midure B
BB800EE 8A8EEH

bl sétuire Modura D
BB8585
~BEBBEAC

Mlture

828885

If one container has one litre paint and the building requires 105 litres for painting, how
many container of each type is required to paint the building by lightest blue shade?
Solution.



i) In misnare &
The number of blue containars = 3
The number of whie conteiners = 4

+Ratio of bue and whits =§ = Q75

In mixure B,
The number of bive containars = 3
The number of whita nnntahaff =7

+Ratio of biie and wh'rte:% =1

Clearly, mixture Awiould be lighter shade. _
i} In mixtura C,

The number of blus contalnerg = 3

The number ol whild containgns = 3

.+ Ratio of biue and whits .g -1

[r merlsehane O,
The number of Bius containars = 2
The number of while containers =&

- Ratio of bise and white =35 =04

Clearly, mixture O woulkd be Ighter shade, since for lighter shade while contane:
ghouid b maons than blue container.

Ay In enituarg E,
The nurmber of blue contalners = 6
The number of while containers = 1

- Ratic of Blue and white =—? =K
In mibshre F,

Thea number of Bfus containers = 4
The nursker of white containers 2
et of biue and white =; =2

Clearly, mixture £ woulkd b lighler shade, since lor lighler shade while container
shouid be equal of more than o nesrest number of blue contanear

i) In miurs G,
The nurmber of blee conlainers: = 3
The numbear of white contemers =3

- Festins oof e and wihite -g -1
by isdllre M,

The mumber of olus Sontainars = 4
Tha reumbar af while Sordainers = 3

~Ratia of blus and whita:i:: =133

Clesry, mixture G would bBe lightar shade, since Tof kghlar shade while confaines
should ba more than blus comtainer.

F.r.:|.".1 the abova all miktuess, mixure Oie lightest amaong them.
2 The botal susmber of Containers raguired ke painlysg =105

~Mumbsar of hlue containars required for penting = % ®105=2 »15= 30

- Mumber of white comfainers recuirad for palntng = ? w1E=5x15=75

Question. 85 Posing a Question Work with a partner to write at least five ratio statement
about this quilt, which has white, blue and purple squares.



How many squares of each colour will be there in 12 such quilts?
Solution.

On the basis af ghan figurs in which whits, biua and purple squaes are glven.
Purple = 12, Blue = 20and White = 16

Totad squares = 12 + 20+ 16= 48

Statemant | Purpla: Total=12:48=1:4

Statement || Biue ; Total =20 48=5:12

Statemant [[1 White ; Toal = 18: 48=1:3

Statemant IV Purpla: Blua=12:20=3:5

Statement V Purple : White =12 16= 3. 4

Question. 86 A packet of sweets was distributed among 10 children and each of them
received 4 sweets. If it is distributed among 8 children, how many sweets will each child
get?

Solution. The total number of children = 10

If each children received 4 sweets, then The total number of sweets = 10 x 4 = 40 sweets
If 40 sweets distributed between 8 children, then each get 40/8 i.e. 5 sweets.

Question. 87 44 cows can graze a field in 9 days. How many less/more cows will graze the
same field in 12 days?
Solution.

44 cows can graze a field = 9 days

The mumber of cows Thal can graze the same field in 1 day = 44 = Scows

' H4x9_44x3
12 4

Hence, (44 — 338, 11 cows legs required for graze the same feld in 12 days.

in 12 days, the number of cows raguired = =11x3=33cows

Question. 88 30 persons can reap a field in 17 days. How many more persons should be
engaged to reap the same field in 10 days?
Solution.

w30 parsong can reap a fesd in 17 days.

1 persan can reap the same field in 30 x 17 ie. 310 days.

in 10 days, the number of persons reguired = % = 51 persons

Question. 89 Shabnam takes 20 minutes to reach her school, if she goes at a speed of 6
km/h. If she wants to reach school in 24 minutes, what should be her speed?
Solution.



Shatinam's spead = & kmyh = .“_’i;]@ mimin

A Todel distamce cowerad by Shabnam @ 20 min = mx'&u
[ listanos = speed « lirme]
=000 o - 100520
= 2000
¥ sha want 1o reach the school in 24 min, then she should maintain the spead =%‘3
1000 500
Sz g mmin
= SOXB0 _ erniih [—.-n:mLamm-ﬁumln]
1000 B 1000

Question. 90 Ravi starts for his school at 8 : 20 am on his bicycle. If he travels at a speed of
10 km/h, then he reaches his school late by 8 minutes but on travelling at 16 km/h, he
reaches the school 10 minutes early. At what time does the school start?
Solution.

L=t the totel datance = x km

Lef the tirne taken by Ravi fo reach the school at sharp tme =t min

If the speed of the Bicycle 510 kre/h, then ke reach his school ate by 8 min.

F B [-.—vmn - ln] il
&
s — e —

I b speed of the bicycle is 16 kr'h, than ke reach his school 10 min sarby

o i:f—E

1] =i ]

18 i
D sk Eqs, 5 and (i), w gt

10 16*15 ]
" Bx—5% _4+35
a0 a0
— i:i &
a1 20
Qx B =
= ¥ = BKmM [y Gross-multiplication
wd i ]
Mow, put x = Bin Eg. (i), we gat
E-i;i
0 15
ok A 2 _2M4-=4
10 15 30
= I-E-EH
3 3
= %x B0 = 40 min [-Ah=80 min]

Hanca, siating lime of school 158 : 20 + dimin e 9 00 am.

Question. 91 Match each of the entries in Column | with the appropriate entry in Column II.



Column |

Column il

1 xand vyvary irsersely 1 each other

s tathematical e presentation of Imessa

wvariation of quamities pand a

3 tathematical representaion ol direcs
wartation of quartties mand n

4 When s =5 ¥=25amd when y =5x =10

& Whenx =10, ¥ =% and whany =20, ¢y =25 E

¥ and yvany directy with each ather

I xared ¥ vary imeersaly, thes on decreasings G

A X = conerant
¥

B, ywillinrease in proportion

L. =y =constent

_|']-\:|||:_I
dq

¥ wiil dacraasa in oropartion

F. xand yaredirecthy
proporional

e

& It x ared ¥ vary directhy, then on decreasing H. & andy vary Irversaly
L pe=g
| -
5]
Solution.
Colurmin | e Calurmin Il
&g yﬁf}'iﬂh’&!‘i&lytﬂ-&&:hﬁﬂ'ﬁ - a =-|:_|.:|n:.l:anl
.'-."namen-p_a_t.cairegfﬁen:atm of inverse vanation I“‘—I
-:lfc:!.ﬂnrrhzs pand g
.'l.l'ﬁl;‘u'.f'r'nln:'.a resresenbaticon of Birect varation Mm=n

of cuantites mand n
Wheny =5 y=25andwhen p =52 =10

Whens =10y =5 and whenxy =20 y=135
= and y vary directhy with each other

IFa and pvary mversehy, then on decreasing x
I g ey wary cirecily, thies on decregsag x

xand g are divectly proportional

['1' a?—-'-tié and “'-:I =2]
25 5

xand y vary inversaky
e ldss=a0ad 20225 =53
X = constari
1
ywill incraase n propotion
wwill decrease in preporticn

Question. 92 There are 20 grams of protein in 75 grams of sauted fish. How many grams of

protein is in 225 grams of that fish?
Solution.

In 20 g of sauted fish, protein is 75g
+ In1 g of souted fish, protein 15?_329

I 225 g of sauted fish, protein = 20

wZ2h=HNx I=E0g
75

Question. 93 Ms Anita has to drive from Jhareda to Ganwari. She measures a distance of
3.5 cm between these village on the map. What is the actual distance between the villages, if
the map scaleis 1 cm = 10 km?

Solution. The distance between Jhareda to Ganwari in the map = 3.5 cm Given scale, T cm =
10 km

So, actual distance between the villages = 35 x 10 = 35 km

Question. 94 A water tank casts a shadow 21 m long. A tree of height 9.5 m casts a shadow
8 m long at the same time. The length of the shadows are directly proportional to their
heights. Find the height of the tank.



21m =
Solution.

The haighs of the iree = 25m
The shadow of the free = Em
#ccording to the given concificn in the guestion, the langhts of the shadoes ane in drect
proportion

a5 =x

= o= E‘-EH-.E :rl? = 2L AATS w 24.59m

Hanca, height of the waler lank is 24.9 m._

Question. 95 The table shows the time four elevators take to travel various distances. Find,
which elevator is fastest and which is slowest.

Distance (in rn] Time {in &)
Ewvatar A 435 Fal}
Elevator 8 A48 28
Elevator O 130 B
Elevator O BS 5

How much distance will be travelled elevators B and C separately in 140 sec? Who travelled
more and by how much?

Solution.

Oni the basis of given tabla,

Elevator Atakes 29 & 1o cowar 435 m.

5 Distance covered by elevator Ain 15 u'fgfﬁlsqn'
Elevator Btakes 26 5 1o cover 448 m

- Gistance coverad by elevalor Bin 13 =¥= i6m

Elevator O takes 10 5 to cover 130 m.
A Degtarce coversd by elevaiorC n 15 = % =13m

Elgvator Diakes 5 & o cover 85 mo
-, Bestance covered by elevator D in 1 sr%nﬂm

Hence, in 15, sevstor O covers more distance s compang o elevators 4, 8 and G, 3o,
elevator 0 18 fastest, whie alevetor O covers least, Hence, elevetor O s slowest,

MNow, eleveior 8 covers deatance in 140 3= 140 x 16 = 2240m  [distance = apead x fime]
ElavatorC covers distancs in 1405 =140 = 13=1820m
o Elavalor B covens mona dislance than C = 22401820

= 421

Question. 96 A volleyball court is in a rectangular shape and its dimensions are directly
proportional to the dimensions of the swimming pool given below. Find the width of the
pool.



—_— ——

0

am

1fm—
Solution.
From the gheen figures,

Length of voleybal cowt =18m
Braadih af volleyball courl = 9m
Length & pood = 75 m .
Let the width of swimming pool = x m

Acoording 1o the guestion, the slze of volleyball coun and swimming peol & in dines
proporion to each othar, TR

8_=x
168 Ta
- . ?5.: S ? «375m [ty cross-multiphcation]

Hangce, fha width of the swimming pool s 37 5m,

Question. 97 A recipe for a particular type of muffins requires 1 cup of milk and 1.5 cups of
chocolates. Riya has 7.5 cups of chocolates.If she is using the recipe as a guide, how many
cups.of milk will she need to prepare muffins?

Solution.

A parieads vpe of nualfing requires 1o, e 1 e d 15 cups of chosalates.,
Foann o s of chissolabes,

Tk s ol cups of milk reqused for cupe of chooalabes = E = houpe

[simge, number of cups of milk and chocodetes g indirect proportion]
Question. 98 Pattern B consists of four tiles like pattern A. Write a proportion involving blue

dots and total dots in patterns A and B. Are they in direct proportion? If yes, write the
constant of proportion.

4 B
[ ™ L] - L] I L] -
a -] q = L -]
L] L] L
1 i L] -
- R : -
L] & | o -]
] - - -
Solution.

Tha numbar of red dols in pettern Als) = 4

The nurmiber of Blya colg In pellern Al =2
Pattarn 8 conssts of our ties like patbern 4 L,
Pattarn A x 4 = Patlsrn 8

~Proportion in patiemn = [--1oted numbar of dots = 4 + 2 = 6

wal—

2
6
M:m.prq:ﬂrﬁunnfbb&dutﬂ&ﬂmddﬂtﬂlnpaﬂanﬂ:%.l

E



Question. 99 A Fowler throws a cricket ball at a speed of 120 km/h. How long does this ball
take to travel distance of 20 m to each the batsman?
Solution.

Tha gpead of the cricket Ball = 120kmh
_ 130 0G0 i,

N

=1 km=1000m and 1 h=860 min]

Miow, speed inm's -3;'::'-—#*«—#“3 [t A mim =0 a]

S0, 20 m can be cover in %-{;JT-:I& [—.—:H‘ne-%

3

Question. 100 The variable x is inversely proportional to y. If x increases by p%, then by what
per cent will y decwsose?

Solution. The variable x is inversely proportional to y. xy = k (constant)

Since, we know that two quantities x and y are said to be in inverse proportion, if an increase
in * cause a proportional decrease in y and vice-versa.So, we can say y decrease by p%.

Question. 101 Here is a keyboard of a harmonium.
(a) Find the ratio of white keys to black keys on the keyboard.

(b) What is the ratio of black keys to all keys on the given keyboard?
(c) This pattern of keys is repeated on larger keyboard. How many black keys would you
expect to find on a keyboard with 14 such patterns?
Solution.
Accarding to tha givan figure,
{2} The todal number of Mack keys =7
The total number of white keys =10
10

Hence, the ratio of white keya 1o biack kevs on the keyboard = —=
r:
(b) The wotal ramber of 38 kevs =10+ 7 =17
The ratlo of black keys o all keys on the given keyboard =
: 17

tc) Black keys in 1 keyboard = 7
Black kays in 14 such keyboards = 14 « 7 = 98 keya

Question. 102 The following table shows the distance travelled by one of the new eco-
friendly energy-efficient car travelled on gas.

Litres of gas 1 HE 2 25 3 ]
Distance (o km) = 75 30 3*h 45 7%

Which type of properties are indicated by the table? How much distance will be covered by
the car in 8 litres of gas?

Solution.On the basis of given table, the distance travelled by one of the new eco-friendly
energy-efficient earns travelled on gas.

The car travelled 15 km In 1 L of gas.

The car travelled 7.5 kmin 0.5 L of gas.

The car travelled 30 kmin 2 L of gas.



This rate shows direct proportion between litres of gas and the distance cover.
The car can cover the distance in 8 L of gas =8 x 15=120 km

Question. 103 Kritika is following this recipe for bread. She realises her sister used most of
sugar syrup for her breakfast. Kritika has only % cup of syrup,so she decides to make a small
size of bread. How much of each ingredient shall she use?

Bread recipe

1 cup quick cooking oats 2 cups bread flour
1
3cup sugar syrup 1 tablespoon cooking oil
1
13 cups water 3 tablespoons yeast

1 tablespoon salt
Solution.

Aftar used of rmast of sugar spnag for her breakdsst, the remaining sugar s lﬁtun of g

g, Thus, ilsmnsl—é:%has'ﬂ&muaad. Ekenaaﬂ-]—;ummmawupfm ane
’ : 1

plece of bread. So, new quantty of ingredient will e in proportion of 5

Mo, the bread recipa wil b Iook ke

% cup quick cooking cata | cup beesad Nour

:—a-::up BLIDAF SYTUR %tab‘r&apm Looking o
'Eé Cuip Water gtanlaapmm yeast

; tablespoen salt

Question. 104 Many schools have a recommended students-teachers ratio as 35:1. Next
year, school expects an increase in enrollment by 280 students. How many new teachers
will they to appoint to maintain the students-teachers ratio?
Solution.

Students-teachers ratio = 351

It show every 35 students-one teacher shoukd vailable in the echaol

I thie schoal, number of studgnts increaees = 280 students

Thia rsriier of teachers required Tor 280 studenis = 280 dteachers

35

Question. 105 Kusum always forgets how to convert miles to kilometres and back again.
However, she remembers that her car's speedometer shows both miles and kilometres. She
knows that travelling 50 miles per hour is same as travelling 80 kilometres per hour. To
cover a distance of 200 km, how many miles Kusum would have to go?

Solution.

5 milea per hour 5 same as traveliing B0 km per hour.

&0, 1 fn covers distance In 1 hta %nﬂm

T G au‘tsian-:amzml-:rn-% w M= E—:E:E = 125 mileg

Hence, 125 miles Kusum hae to go far 200 km.

Question. 106 The student of Anju’s class sold posters to raise money. Anju wanted to
create a ratio for finding the amount of money, her class would make for different numbers
of posters sold. She knew, they could raise Rs 250 for every 60 posters sold.

(a) How much money would Anju’s class make for selling 102 posters?

(b) Could Anju’s class raise exactly Rs 20007 If so, how many posters would they need to
sell? If not, why?



Solution.
(8} Every 60 posters, Anju's class students reise = ¥ 250

S0, fram 1 poster, Anju's class shudents rase
260 .25

o e

B0 B
If Anju's sall 102 poaters, than they rase

25
=53 102
Ex
=17 x 2§
= T 425

Henca, Anju's class maka B 425 for salling of 102 posters,

(B Since, by selling 1 postar, Anju's class ralss = !%5

For raige axacily T 2000, they needs to sell
=m»-'%5

= 2000 x .
25

= 480 posters



